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| nstructions to the candidates:
1) Answer Q4)or Q2and Q.3 or Q.4.

2) Answer/in Oneanswer books. * o
3) Figdresto theyight indicates full marks. %
4) Assume suitable data if necessary. K

1)  Competitivegame

Q1) & , Discussthefollowing characteriti r%t\gametheory [9]
i)  Pureand mixed Strat 2
i) Pay off matrix O< y

iv) Vaueof game ¢

v) Saddle point

b) A food produ pany,.is contemplating the introduction of a
revolutionar; oductwith new packaging or replacing the existing
product igher price (S1). It may even make a moderate change

N th position of the existing product, with a new packaging:at a
S @ reasein price(S2), or may asmall changein the compesition of
exisisting product, backing it with the word ““ New™and aegligible

@rease in price’(S3). The three different possiblesstates-of nature or

entsarehighincreasein sales(N1), no changein saie (N2):and decrease
in sale (N3). The marketing department of the-company\yworked out the

three events. Thisis represented in the foliowing table. Which startegy
should be concerned executive choose on the bas's of [10]

)  Maxi-mincriteria
i) Maxi-max criteria.
i) Mini-max criteria
Iv) Laplacecriteria

Q 2 payoff’s in terms of the yearly net profits foreach .0f/the strategies of



States of naturgg;
Strategies N1 ,@Q/ N3
s1 7,00,000 %@',%oo 1,50,000
s2 500,000 g%éo,ooo 0

3 )@ffOQQ,’D 3,00,000 | 3,00,000 @
QY oR
Q2) a) Dlscuﬁ)@qﬁases of solving Operation research (OR@ em.[5]

So e %3& ewhose payoff matrix is given below 9 . [10]

q(,b Player B
%
%.
v 1 =

oP
three machines. The processing timeis &/
optl@r schedule so that the total elapsed ti

Y% 2]

@o 03
(Q/ | 2| B | 4| B (';,yﬁ §9
ning) |10 | 3 5 | 4 v (3) ,\@/3
MachineM2 (Threading)| 2 | 4 | 6 (%‘y «\(}/2
< 3 . . X
MachineM3 (Knurling) | 8 6 7 b D 7
( J) 6\\,
b) Explain Kendall’snotation for represe‘u quggmg models? [3]
OR (O(}(;D
V
&.

v
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Q4) A repair shop attended by asingle mech has an average of four customers
an hour who bring small appliances fojg;ai r. The mechanic inspects them
for defects and takes six minutes an aver ageArrivals are Poisson and service
rate hasthe exponential distri butio%, [8]

&
You arerequired to: r\, bcp

(bQ
i) Find thé@pqﬂf/l\@n of time during which there is no Custon@
the QY% O
Q
\

1)) | h&g%bability of finding at least one customer i shop.

N *
iii()thé/@Ds the average number of customersi n@eﬁ?

%.
V) (-gmd the average time spent by a cu the shop including
&)service.
V

complete the tasks on two [7]
Job J b‘ B | B
MachineM1 "C | P 9 1 q‘f)b
— e
Mach %5 qfﬁ 1] 3| 6 |10 &y@
(\y | f\, (OO/D\
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